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QUESTION 1

What is a major difference between HDFS and GPFS-FPO?

A. There is no difference, GPFS-FPO is just IBM version of HDFS in BigInsights.

B. There is no difference, as GPFS-FPO is the new open source standard version for the Hadoop file system.

C. Unlike HDFS, GPFS-FPO is a kernel level, POSIX compliant, and highly available file system that allows for standard
applications to also use the storage area marked for Hadoop use.

D. Unlike HDFS, GPFS-FPO is a kernel level, POSIX compliant file system that allows for standard applications to also
use the storage area marked for Hadoop use. Like HDFS, GPFS- FPO also has an issue with the meta data name node
service which may be a single point of failure.

Correct Answer: C

QUESTION 2

Which of the following features is a browser-based analytic tool in the Biglinsights web console that uses a spreadsheet
metaphor to help you analyze and break down massive amounts of unstructured data into consumable, situation-
specific business contexts?

A. Adaptive MapReduce

B. BigSheets

C. Text Analytics

D. Bigindex.

Correct Answer: B

QUESTION 3

Hadoop environments are optimized for:

A. Processing transactions (random access).
B. Low latency data access.

C. Batch processing on large files.

D. Intensive calculation with little data.

Correct Answer: C

QUESTION 4
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Which of the following options is CORRECT?

A. InfoSphere BiglInsights is based on a branched Hadoop distribution, and therefore backwards compatibility is not
guaranteed.

B. InfoSphere BiglInsights is a distributed file system used as base for Hadoop distributions.

C. InfoSphere Biglnsights is based on the non forked core Hadoop distribution, but backwards compatibility with the
Apache Hadoop project is not guaranteed, therefore applications written for Hadoop might not run on Biglnsights.

D. InfoSphere Biglnsights is based on the non forked core Hadoop distribution, and backwards compatibility with the
Apache Hadoop project will always be maintained. Therefore, all applications written for Hadoop will run on Biglnsights.

Correct Answer: D

QUESTION 5

Which of the following InfoSphere BigInsights editions includes the Adaptive MapReduce feature?
A. InfoSphere BigInsights Express Edition.

B. InfoSphere Biglnsights Enterprise Edition.

C. InfoSphere Biglnsights Extended Developer Edition.

D. InfoSphere Biglnsights Advanced Enterprise Edition.

Correct Answer: B
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